Warm Up

1. Paco was asked to come to the board and simplify the expression below. If he answered
the question correctly, which answer did he give?

(3x*-3x=4)-(x*+4x-2)

® 27-2x-2 © 2x+7x+2
® 2x-7x-2 ® 2¢-7x-2

2. At Junior's Smokehouse, Richard eams 10% commission on each sale of beef jerky.
Today, he sold $250 worth of jerky. How much commission did Richard make today?
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A rational number is any number that can be
expressed in the form a/b where a and b are
both integers and b is not zero.

Includes:

* Integers

» all fractions and mixed numbers

+ any decimal that terminates or repeats.




Repeating decimals are rational...are you sure?
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Individual Practice
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Individual Practice

e : a
If your answer is given in the form with no common

1. 2.3 x 5
factors, what is the value of b?
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factors, what is the value of a?
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3. 404 = 1 If your answer is given in the form b’ with no common
factors, what is the value of b?



Homework:

repeating decimal worksheet second one
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A plant grew 1.Y Inches within the first month and =5 of ar inch within

10 Which rational number is equivalent to 0.36?
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